International Journal of Analysis and Applications ISSN 2291-8639 Volume 1, Number 1 (2013), 18-32 http://www.etamaths.com

ANALYTIC SOLUTIONS OF SPECIAL FUNCTIONAL EQUATIONS

OCTAV OLTEANU

ABSTRACT. We recall some of our earlier results on the construction of a mapping defined implicitly, without using the implicit function theorem. All these considerations work in the real case, for functions and operators. Then we consider the complex case, proving the analyticity of the function defined implicitly, under certain hypothesis. Some consequences are given. An approximating formula for the analytic form of the solution is also given. Finally, one illustrates the preceding results by an application to a concrete functional and operatorial equation. Some related examples are given.

1 Introduction

The equation

$$g = g \circ f$$
,

where g is given, while f is the unknown function, always has the trivial solution

$$f(x) = x, \ \forall x \in D,$$

2010 Mathematics Subject Classification. 37K20

Key words and phrases. constructive solutions, implicit function, analyticity, approximations, operators

©2013 Authors retain the copyrights of their papers, and all open access articles are distributed under the terms of the Creative Commons Attribution License.

where D is the domain of definition for f.

When g is firstly decreasing and then increasing (or -g firstly increases and then decreases), there exists exactly one decreasing nontrivial solution f, with the qualities stated in theorem 2.1 from below. Such functions -g appear as probability densities associated to some random variables. These equations appeared firstly in [5]. For concrete functions g, one obtains special qualities of the corresponding solutions f.

The present approach allows the construction of the solutions of such functional and operatorial equations, without using the implicit function theorem. In the operatorial case the solution F is a function of $U \in D \subset X$, where X is the commutative algebra of selfadjoint operators (2). We essentially use the fact that X is also an order-complete vector lattice, with respect to the natural order relation on the real vector space A(H) of all selfadjoint operators acting on H.

This work continues theorems published in [4]-[7] and contains new results too. The background is partially contained in [1], [2], [3], [8]. In Section 2 we recall some known results on the subject, especially related to the real case. Section 3 contains the proof of the analyticity of the solution and some related consequences. An approximating explicit formula is also given. In Section 4, we apply the theoretical results to a concrete functional equation and to the corresponding operatorial equation.

2. General known results

Theorem 2.1. (see also [4]-[7]). Let $u, v \in \mathbb{R}$, u < v, $\alpha \in]u, v[$ and let $g:]u, v[\to \mathbb{R}$ be a continuous function. Assume that

(a)
$$\lim_{x \downarrow u} g(x) = \lim_{x \uparrow v} g(x) = w \in \overline{\mathbb{R}},$$

(b) g is strictly decreasing on $]u,\alpha[$ and strictly increasing on $[\alpha,\nu[$. Then there exists $f:]u,\nu[\rightarrow]u,\nu[$ such that

$$g(x) = g(f(x)), \forall x \in]u, v[$$

and f has the following qualities:

(i) f is strictly decreasing on u, v and we have

$$\lim_{x \downarrow u} f(x) = v, \quad \lim_{x \uparrow v} f(x) = u;$$

- (ii) α is the unique fixed point of f;
- (iii) we have $f^{-1} = f$ on]u, v[;
 - (iv) f is continuous on u, v[;
 - (v) if $g \in C^n(]u,v[\setminus \{\alpha\})$, $n \in \mathbb{N} \cup \{\infty\}$, $n \geq 1$, then $f \in C^n(]u,v[\setminus \{\alpha\})$;
 - (vi) if g is derivable on $]u,v[\setminus \{\alpha\}, \text{ so is } f;$
- (vii) if $g \in C^2(]u,v[)$, $g''(\alpha) \neq 0$ and there exists $\rho_1 := \lim_{x \to \alpha} f'(x) \in \overline{\mathbf{R}}$ then $f \in C^1(]u,v[) \cap C^2(]u,v[\setminus \{\alpha\})$ and $f'(\alpha) = -1$;
- (viii) if $g \in C^3(]u,v[)$, $g''(\alpha) \neq 0$ and there exist $\rho_1 := \lim_{x \to \alpha} f'(x) \in \overline{\mathbf{R}}$ and $\rho_2 := \lim_{x \to \alpha} f''(x) \in R$, then $f \in C^2(]u,v[) \cap C^3(]u,v[\setminus \{\alpha\})$ and

$$f''(\alpha) = \rho_2 = -\frac{2}{3} \cdot \frac{g'''(\alpha)}{g''(\alpha)};$$

- (ix) if g is analytic at α , then f is derivable at α and $f'(\alpha) = -1$;
- (x) let $g_l := g|_{]u,\alpha[}$, $g_r := g|_{]\alpha,\nu[}$; then we have

$$f(x_0) = (g_r^{-1} \circ g_l)(x_0) = \sup\{ x \in [\alpha, v[; g_r(x) \le g_l(x_0)] \ \forall \ x_0 \in]u, \alpha] \}$$

and

$$f(x_0) = (g_l^{-1} \circ g_r)(x_0) = \inf\{ x \in]u, \alpha]; g_l(x) \le g_r(x_0) \} \ \forall \ x_0 \in [\alpha, \nu[$$

The proof of this theorem is similar to that of Theorem 1.1. [5] (see Figure 1 [5], p. 62).

We recall the geometric meaning of the construction of f. If $x \in]u,v[\setminus \{\alpha\}]$, consider the horizontal passing through the point (x,g(x)). Thanks to the qualities of g, this straight line intersect once again the graph of g at exactly one point

$$(x_1, g(x_1)) = (x_1, g(x)), x_1 \neq x.$$

We define

$$f(x) = x_1$$
.

Then we have

$$g(x) = g(x_1) = g(f(x)), x \in]u, v[\setminus \{\alpha\}, f(\alpha) := \alpha.$$

When x runs over the interval $u, \alpha, f(x)$ runs over the interval α, v , in the decreasing sense, from u to α . When u runs over the interval u, u, (in the increasing sense), u, runs over the interval u, u, in the decreasing sense, from u to u.

Let $_{\alpha \in]0,\infty[}$ and denote by $_G$ the set of all continuous functions $_{g:]0,\infty[\to]0,\infty[}$, $_{g(\alpha)=0}$, which are decreasing on $_{]0,\alpha[}$ and increasing on $_{[\alpha,\infty[}$, such that

$$\lim_{x \downarrow 0} g(x) = \lim_{x \uparrow \infty} g(x) = \infty.$$

For $g, h \in G$, an interesting problem is the following one: find necessary and sufficient conditions on g, h for the equality:

$$f_g = f_h$$
,

where f_g , f_h are the corresponding functions attached to g_h respectively to h by Theorem 2.1. The following statement is giving the answer.

Theorem 2.2. (Theorem 1.4 [5]). Let $g, h \in G, \lambda \in]0, \infty[$. Then $g + h, \lambda g, g \cdot h$ are also elements of G and the following statements are equivalent

- (a) $f_g = f_h$;
- (b) $h_r \circ g_r^{-1} = h_l \circ g_l^{-1}$, $g_l := g|_{[0,\alpha]}$, $g_r := g|_{[\alpha,\infty[}$, $g \in G$;
- (c) there exists $\varphi:[0,\infty[\to[0,\infty[$ such that $\varphi(0)=0,\ \varphi$ is continuous and increasing, verifying the relation

$$h = \varphi \circ g$$
.

Next we consider the abstract operatorial version of Theorem 2.1. In the sequel, x will be an order-complete vector lattice, and $Izom_+(X)$ will be the set of all vector space isomorphisms $T: X \to X$ which apply X_+ onto itself.

Theorem 2.3. Let X be an order-complete vector lattice, X_+ its positive cone, $\alpha \in X$, D_1 a convex subset such that

$$\alpha \,\in\, D_l \,\subset\, \{\,x \in\, X\;; \quad x \leq \alpha\,\};$$

D_r a convex subset such that

$$\alpha \in D_r \subset \{x \in X \, ; \ x \geq \alpha \};$$

Let $g_1: D_1 \to X$ be a convex operator such that

$$\partial g_l(x) \cap (-Izom_+(X)) \neq \Phi, \quad \forall x \in D_l \setminus \{\alpha\}.$$

Let $g_r: D_r \to X$ be a convex operator such that

$$\partial g_r(x) \cap (Izom_+(X)) \neq \Phi, \quad \forall \, x \in D_r \setminus \{\alpha\}.$$

We also assume that

$$g_l(\alpha) = g_r(\alpha)$$
 and $R(g_l) = R(g_r)$,

where R(g) is the range of g, while $\partial g(x)$ is the set of all subgradients of g at x. Let

$$g: D = D_l \cup D_r \to X,$$

$$g(x) = g_l(x) \, \forall x \in D_l, \quad g(x) = g_r(x) \, \forall x \in D_r.$$

Then there exists $F: D \to D$ such that

$$g(x) = g(F(x)), \quad \forall x \in D$$

F is strictly decreasing in D and it has the following properties:

- (i) α is the only fixed point of F;
- (ii) there exists F^{-1} and $F^{-1} = F$ on D;
- (iii) we have

$$F(x_0) = g_r^{-1}(g_l(x_0)) = \sup\{ x \in D_r ; g_r(x) \le g_l(x_0) \} \ \forall \ x_0 \in D_l,$$

$$F\left(x_{0}\right) = g_{l}^{-1}(g_{r}(x_{0})) = \inf\{\ x \in D_{l}\ ; g_{l}(x) \leq g_{r}(x_{0})\}\ \forall\ x_{0} \in D_{r}.$$

The proof of this theorem is similar to that from [5].

3. On the analyticity of the solution. The complex case

Application of the complex form of the implicit function theorem for a holomorphic function \tilde{g} , that is the extension of the real function g of Theorem 2.1, might be difficult around α . Namely, considering the equation

$$H(z, w) = \tilde{g}(z) - \tilde{g}(w) = 0,$$

we have

$$\frac{\partial H}{\partial w}(\alpha, \alpha) = 0, \lim_{z \to \alpha} \frac{\tilde{g}'(z)}{\tilde{g}'(w(z))} = \frac{0}{0} = \lim_{z \to \alpha} w'(z).$$

Note that around points from $u_{l}, v_{l} \setminus \{\alpha\}$, application of the implicit function theorem leads to the analyticity of u_{l} at such points. Therefore, we only have to study the analyticity at u_{l} .

Theorem 3.1. Let \tilde{g} be the extension of the function g from Theorem 2.1, such that \tilde{g} is holomorphic in a complex neighborhood of g is the extension of the equation $\tilde{g} = \tilde{g} \circ \tilde{f}$, such that \tilde{f} is the extension of f from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g is the extension of g from Theorem 2.1 to a complex neighborhood of g from Theorem 2.1 to g

Proof. From the preceding remarks, we have to prove the analyticity of \tilde{f} at α . To this end, let us write the following expansions:

$$\widetilde{g}(z) - \widetilde{g}(\alpha) = (z - \alpha)^{2k} \left[\frac{\widetilde{g}^{2k}(\alpha)}{(2k)!} + \frac{\widetilde{g}^{2k+1}(\alpha)}{(2k+1)!} (z - \alpha) + 0((z - \alpha)) \right],$$

$$\widetilde{g}(f(z)) - \widetilde{g}(\alpha) = (f(z) - \alpha)^{2k} \left[\frac{\widetilde{g}^{2k}(\alpha)}{(2k)!} + \frac{\widetilde{g}^{2k+1}(\alpha)}{(2k+1)!} (f(z) - \alpha) + 0((f(z) - \alpha)) \right].$$

Here m = 2k is the smallest natural number, which for the derivative of order m of \tilde{g} at α is not vanishing. By Taylor formula, it must be an even number, since α is a minimum point for g. On the other hand, since $\tilde{g} = \tilde{g} \circ \tilde{f}$, elementary computations and the preceding expansions lead to

$$\lim_{z \to \alpha} f(z) = \alpha (= f(\alpha)).$$

Further computations yield

$$\frac{\tilde{f}(z) - \tilde{f}(\alpha)}{z - \alpha} = \left(\frac{\tilde{g}^{(2k)}(\alpha)/(2k)! + \varphi(z)(z - \alpha)}{\tilde{g}^{(2k)}(\alpha)/(2k)! + \varphi(\tilde{f}(z))(\tilde{f}(z) - \alpha)}\right)^{1/2k},$$

where φ is holomorphic around α . It follows that $\tilde{f}'(\alpha)$ is a 2k-order root of the unity. Using the fact that \tilde{f} applies intervals of the real line into the real line and that it is decreasing, we deduce that $\tilde{f}'(\alpha) = f'(\alpha) = -1$. This concludes the proof.

In the sequel, for a complex neighborhood v of α we denote:

$$\begin{aligned} & V_l^{\ +} = \big\{z \in V \ ; \ \text{Re} \ \ z < \alpha \ , \ \text{Im} \ \ z > 0\big\}, \\ & V_r^{\ +} = \big\{z \in V \ ; \ \text{Re} \ \ z < \alpha \ , \ \text{Im} \ \ z < 0\big\}, \\ & V_r^{\ -} = \big\{z \in V \ ; \ \text{Re} \ \ z > \alpha \ , \ \text{Im} \ \ z < 0\big\}. \end{aligned}$$

Corollary 3.1. There is a neighborhood V of α such that

$$\tilde{f}:V\to \tilde{f}(V)$$

is a one to one mapping and we have

$$\tilde{f} \circ \tilde{f} = id$$
, $\tilde{f}(V_{l}^{+}) = (f(V))_{r}^{-}$, $\tilde{f}(V_{l}^{-}) = (f(V))_{r}^{+}$, $\tilde{f}(V_{r}^{+}) = (f(V))_{l}^{-}$, $\tilde{f}(V_{r}^{-}) = (f(V))_{l}^{+}$.

Proof. The first two assertions follow by the local inversion theorem and respectively from the analytic continuation principle (\tilde{f} is a holomorphic extension of f). The last four relations are consequences of the fact that \tilde{f} is conformal at $x_0 = \alpha$, also using the qualities of f (see the comments following Theorem 2.1). The conclusions follow.

Corollary 3.2. There is a complex neighborhood w of u, v such that \tilde{f} is holomorphic on w.

Corollary 3.3. The function $\frac{1}{z-\alpha} + (f(z)-\alpha)$ is univalent in the open disc $|z-\alpha| < 1$ if and only if $f(z) = -z + 2\alpha$

Proof. For the only if part, assume that

$$\frac{1}{z-\alpha} + (f(z) - \alpha) = \frac{1}{z-\alpha} - (z-\alpha) + \frac{\tilde{f}''(\alpha)}{2} (z-\alpha)^2 + \cdots$$

is univalent in the open disc $|z - \alpha| < 1$. Then by the area theorem 14.13 [8], we should have

$$\sum_{n=1}^{\infty} n \cdot \left| a_n \right|^2 \le 1,$$

where a_n , $n \ge 1$ are the coefficients of the holomorphic part of the preceding expansion. Since $a_1 = -1$, it follows that all the other a_n , $n \ge 2$ are vanishing, so that:

$$f(z) - \alpha = -z + \alpha$$
, $f(z) = -z + 2\alpha$.

Conversely, if this last relation is verified, then a straightforward computation shows that the function

$$\frac{1}{z-\alpha}+(f(z)-\alpha)$$

is univalent in the unit open disc centered at $_{\alpha}$. This concludes the proof. $_{\square}$

Remark 3.1. The function $f(z) = -z + \alpha$ is an extreme point of the convex set of all holomorphic functions with real coefficients $\psi(z) = \sum_{n=1}^{\infty} a_n (z - \alpha)^n$, $\sum_{n=1}^{\infty} n \cdot a_n^2 \le 1$. It is also an extreme point of the convex subset of all functions

$$h(z) = \sum_{n=1}^{\infty} a_n (z - \alpha)^n, a_1^2 + \sum_{n=2}^{\infty} p_n |a_n|^{m_n} \le 1, p_n \ge 0, m_n > 1, \forall n \ge 2,$$

where p_n, m_n are given numbers with the properties from above.

Theorem 3.2. In a small neighborhood of α , we have:

$$\widetilde{f}(z) \approx z - 2 \frac{\widetilde{g}'(z)}{\widetilde{g}''(z)}.$$

Proof. The following relations hold true:

$$0 = \tilde{g}(f(z)) - \tilde{g}(z) = \tilde{g}'(z)(f(z) - z) + \frac{\tilde{g}''(z)}{2}(f(z) - z)^2 + 0((f(z) - z)^2)$$

Dividing by $f(z) - z \neq 0$ and neglecting the nonlinear remained terms in f(z) - z, the conclusion follows.

Corollary 3.4. For \tilde{g} as above and any linear bounded operator U acting on a Hilbert space H, with spectrum $\sigma(U)$ in a small neighborhood of α , there is a holomorphic function \tilde{f} such that

$$\begin{split} &\widetilde{g}\left(\widetilde{f}\left(U\right)\right) = \ \widetilde{g}\left(U\right), \ \widetilde{f}\left(\widetilde{f}\left(U\right)\right) = U, \\ &\sigma\left(U\right) \subset \left\{\operatorname{Im}\ z \geq 0\right\} \Leftrightarrow \ \sigma\left(\widetilde{f}\left(U\right)\right) \subset \left\{\operatorname{Im}\ z \leq 0\right\}, \\ &\widetilde{f}\left(U\right) \approx U - 2 \cdot \widetilde{g}'(U) \cdot \left[\widetilde{g}''(U)\right]^{-1}, \end{split}$$

for all such operators U.

Proof. Part of the relations follows by analytic functional calculus. For the third relation, one applies Corollary 3.1. For the last relation one uses Theorem 3.2. \Box

4. Examples and applications

We consider the functional equation

$$x^{a} \exp(-\beta \cdot x) = (f(x))^{a} \exp(-\beta \cdot f(x)), x > 0, a > 0, \beta > 0.$$

This equation is equivalent to the following one:

$$x \exp(-bx) = f(x) \exp(-bf(x)), x > 0, b := \beta / a > 0.$$
 (1)

Theorem 4.1. There exists a unique decreasing solution $f:]0,\infty[\to]0,\infty[$ of the equation (1) and this solution has the following properties:

- (i) $f(0+) = \infty , f(\infty -) = 0+;$
- (ii) $\alpha = 1/b$ is the unique fixed point of f;
- (iii) $f^{-1} = f \ On \]0, \infty[;$
- (iv) the following constructive formulae for f(x) hold

$$f(x_0) = \sup \{x \in [1/b, \infty[; x \exp(-bx)] \ge x_0 \cdot \exp(-bx_0)\}, \forall x_0 \in]0,1/b],$$

$$f(x_0) = \inf \{x \in]0,1/b]; x \exp(-bx) \ge x_0 \cdot \exp(-bx_0)\}, \forall x_0 \in [1/b, \infty[;$$

- (v) $_f$ is the restriction of a holomorphic function $_{\widetilde{f}}$ on a complex neighborhood of $_{]0,\infty[}$, such that $_{\widetilde{f}}'(_{1/b})=_{-1},\,_{\widetilde{f}}\circ_{\widetilde{f}}=_{id}$, and $_{\widetilde{f}}$ has the qualities mentioned in Corollary 3.1;
- (vi) in a small neighborhood of 1/b, we have: $\tilde{f}(z) \approx z + \frac{2}{b} \cdot \frac{1-bz}{2-bz}$.

Proof. The function $g(x) = -x \cdot \exp(-bx)$ decreases from 0 to $g(1/b) = -e^{-1}b^{-1}$ in the interval $[0,b^{-1}]$ and increases from $g(b^{-1})$ to 0 in the interval $[b^{-1},\infty[$. Hence, the conclusions (i)-(iv) follow from theorem 2.1. The function g is the restriction of a holomorphic function g, with

$$\tilde{g}'(b^{-1}) = 0, \ \tilde{g}^{(n)}(z) = (-1)^n b^{n-1} \exp(-bz)(n-bz), \ n \in \mathbb{N}, \ n \ge 1, \ z \in C.$$

In particular, $\tilde{g}''(b^{-1})_{\neq 0}$, so that we can apply Corollary 3.1, that leads to the conclusion (v) of the present statement. The assertion (vi) follows from Theorem 3.2. This concludes the proof.

Let g be the function from the proof of Theorem 4.1. Then there exists appropriate intervals u, v[, containing u^{-1} , such that u is convex on u, v[, u (u) = u (v). The convexity is required in theorem 2.3 in order to deduce the existence of a subgradient, which allow the construction of the solution. Next we apply theorem 2.3 to the operatorial equation corresponding to (1). The case of arbitrary linear bounded operators follows from corollary 3.4, for u (u) = u (u), Re u > 0, u = u = u = u0 being the holomorphic extension of u0 from theorem 4.1 to a complex neighborhood of u0, u0 (see also theorem 3.1). Now we consider the case of the associated operator equation in a commutative algebra of selfadjoint operators u0 and u1 being a fixed selfadjoint operator acting of the Hilbert space u1. We define;

$$X_{1} = \{U \in A(H); UA = AU \}, X = X(A) = \{V \in X_{1}; VU = UV, \forall U \in X_{1}\},$$

$$X_{+} = \{V \in X; \langle Vh, h \rangle \geq 0 \ \forall h \in H \}.$$

$$(2)$$

It is known [2] that $_X$ is an order complete Banach lattice and a commutative algebra. We denote:

$$\begin{split} D_l &= \left\{ V \in X \, ; \, \sigma \left(V \right) \subset \left[u, 1/b \right[\right\} \cup \left\{ b^{-1} I \right\}, \\ D_r &= \left\{ V \in X \, ; \, \sigma \left(V \right) \subset \left[1/b, v \right] \right\} \cup \left\{ b^{-1} I \right\}, \, D = D_l \cup D_r \, , \end{split}$$

where $\sigma(V)$ is the spectrum of V.

Theorem 4.2. There exists a decreasing mapping $F: D \rightarrow D$, such that

$$U \; \exp \; \left(- \; bU \; \right) = \; F \left(U \; \right) \exp \; \left(- \; bF \; \left(U \; \right) \right), \; U \; \in \; D \; .$$

This mapping has the following properties:

- (i) $b^{-1}I$ is the unique fixed point of F;
- (ii) $_F$ is invertible and $_F^{-1} = _F$ on $_D$;

- (iii) $_F$ applies $_{D_I}$ onto $_{D_r}$ and $_{D_r}$ onto $_{D_I}$;
- (iv) the following constructive formulae for $_F$ hold:

$$\begin{split} F\left(U_{0}\right) &= \sup \big\{U \in D_{r}; \, U \, \exp \big(-bU_{0}\big) \big\} \cup U_{0} \, \exp \big(-bU_{0}\big) \big\}, \, \forall \, U_{0} \in D_{l}, \\ F\left(U_{0}\right) &= \inf \big\{U \in D_{l}; \, U \, \exp \big(-bU_{0}\big) \big\} \cup U_{0} \, \exp \big(-bU_{0}\big) \big\}, \, \forall \, U_{0} \in D_{r}; \end{split}$$

(v) for $U \in A$, with the spectrum in a small neighborhood of b^{-1} , we have:

$$F\left(U\right)\approx U+(2b^{-1})\big(I-bU\big)\big(2I-bU\big)^{-1}.$$

Proof. We have to verify the conditions from the statement of theorem 2.3. To prove the convexity of $g(U) = -U \exp(-bU)$ on the convex subsets D_I, D_r , we use the convexity of the scalar function g on J_U, v_I and the positivity of the spectral measures attached to the elements $U_I, U_I \in D_I$, respectively $U_I \in D_I$, $U_I \in D_I$, $U_I \in D_I$, are commuting operators is essential. One can use Fubini's theorem. Namely, for $U_I \in [0,1]$ we have

$$g\left((1-t)U_{1}+tU_{2}\right)=\int\limits_{\sigma(U_{1})\times\sigma(U_{2})}g\left((1-t)x_{1}+tx_{2}\right)d_{E_{1}}d_{E_{2}}\leq \int\limits_{\sigma(U_{1})\times\sigma(U_{2})}g\left((1-t)\int\limits_{\sigma(U_{1})\times\sigma(U_{2})}g\left(x_{1}\right)d_{E_{1}}d_{E_{2}}+t\int\limits_{\sigma(U_{1})\times\sigma(U_{2})}g\left(x_{2}\right)d_{E_{1}}d_{E_{2}}=\int\limits_{\sigma(U_{1})\times\sigma(U_{2})}g\left(x_{1}\right)+tg\left(x_{2}\right).$$

Now the convexity on the subsets D_I, D_r is proved. On the other hand, for $U \in D_I \setminus \{b^{-1}I\}$, we have:

$$g'_{l}(U) = \exp \left(-bU\right)(bU - I) < 0$$

as a product of two commuting selfadjoint operators, the first one being positive and the second one being negative. In the same way, one shows that

$$g'_r(U) > 0, \forall U \in D_r \setminus \{b^{-1}I\}$$

It remains to prove that the ranges of the ranges of the two operators g_l, g_r coincide, and also the assertions (iii) and (v) of the present statement. Let

 $g_l(U_1) \in r(g_l), U_2 := F(U_1)$, where F is associated to f by means of functional calculus. Using the qualities of f, we obtain:

$$\sigma\left(U_{2}\right) = \sigma\left(F\left(U_{1}\right)\right) = f\left(\sigma\left(U_{1}\right)\right) \subset \left[1/b,v\right] \Rightarrow U_{2} \in D_{r}.$$

From the equality $g_I(t) = g_r(f(t))$, $t \in [u, 1/b] \supset \sigma(U_1)$, by integration with respect to the spectral measure attached to U_1 , one obtains

$$g_{l}(U_{1}) = \int_{\sigma(U_{1})} g_{l}(t) d_{E_{U_{1}}} = \int_{\sigma(U_{1})} g_{r}(f(t)) d_{E_{U_{1}}} = g_{r}(f(U_{1})) = g_{r}(U_{2}) \in R(g_{r}).$$

Similarly, one proves that $r(g_r) \subset r(g_l)$. Now all the conclusion (except (v)), follow by application of theorem 2.3. The assertion (v) is a consequence of (vi), theorem 4.1. This concludes the proof.

We next give some examples for which the exact analytic expression of the solution f can be determined explicitly.

Theorem 4.3. The nontrivial solution of the equation

$$e^{-x}(1-e^{-x})=e^{-f(x)}(1-e^{-f(x)}), x>0,$$

is given by

$$f(x) = -\ln(1 - e^{-x}), x > 0.$$

Its holomorphic extension is $\tilde{f}(z) = -\ln(1 - e^{-z})$, Re z > 0.

Proof. One can prove easily that the function

$$g(x) = -e^{-x}(1 - e^{-x}), x \in]0, \infty[$$

verifies the conditions of theorem 2.1, where $\alpha = \ln 2$. To find the analytic expression of f, we rewrite our functional equation as

$$e^{-f(x)} - e^{-x} = e^{-2f(x)} - e^{-2x} = \left(e^{-f(x)} - e^{-x}\right)\left(e^{-f(x)} + e^{-x}\right)$$

Dividing by

$$e^{-f(x)} - e^{-x} \neq 0, x \neq \ln 2,$$

and doing some straightforward computations, one obtains the result. This concludes the proof.

Example 4.1. The unique nontrivial solution \tilde{f} of the equation

$$\widetilde{g}(z) = \widetilde{g}(\widetilde{f}(z)), |z| < 1, \ \widetilde{g}(z) = \left(\frac{z}{2-z}\right)^2$$

is given by $\tilde{f}(z) = \frac{z}{z-1}$.

REFERENCES

- [1] Colojoară, I. Elements of Spectral Theory, Academiei, 1968 (in Romanian).
- [2] Cristescu, R., Ordered Vector Spaces and Linear Operators, Academiei, Bucharest, and Abacus Press, Tunbridge Wells, Kent, 1976.
- [3] Needham, T., Visual complex analysis, Clarendon Press, Oxford, 1997.
- [4] Olteanu, A. & Olteanu, O., Solving some special functional equations by a general "geometrical" method, and an approach to the complex case, Revue Roumaine de Mathématiques Pures et Appliquées, 51, 5-6 (2006), 735-745.
- [5] Olteanu, O. & Simion, Gh., A new geometric aspect of the implicit function principle and Newton's method for operators, Math. Reports, 5(55), 1 (2003), 61-84.
- [6] Olteanu O. & Radu, C., Solving some functional and operatorial equations by a general constructive method, U.P.B. Sci. Bull., Series A, 69, 4 (2007), 57-66.
- [7] Olteanu, O., Geometric aspects in operator theory and applications, Lambert Academic Publishing, Saarbrücken, 2012.
- [8] Rudin, W., Real and Complex Analysis. Third Edition, McGraw-Hill, Inc., 1987.

DEPARTMENT OF MATHEMATICS-INFORMATICS, UNIVERSITY POLITEHNICA OF BUCHAREST, SPLAIUL INDEPENDENTEI 313,060042 BUCHAREST, ROMANIA